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B.A. DEGREE EXAMINATION, NOVEMBER 2015.
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 Major Paper XII — MATHEMATICS FOR ECONOMISTS
Time : 3 hours
    Max. marks : 75

SECTION A — (10 × 2 = 20 marks)

Answer any TEN questions.

1.
Define ‘matrix’.
2.
What is Square matrix?
3.
Bring out the conditions for adding two matrixes.
4.
If  A = 
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 and  B = 
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 find AB.
5.
Write down any two properties of Transpose of matrix.
6.
If  A = 
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 find the determinant of A.
7.
State Hawkin - Simon conditions of Input output analysis.
8.
State any two rules of differentiation.
9.
If  Y = 3x2 – 6x + 2 find 
[image: image4.wmf]dx

dy
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10.
State conditions for the function y = f(x) minimum.
11.
If Total cost function TC = 6 + 2x + 5x2 find the marginal cost when x = 2.
12.
Define homogenous function.
SECTION B — (5 × 5 = 25 marks)

Answer any FIVE questions.

13.
State and prove any three properties of determinants.
14.
Find the Inverse of the matrix

A = 
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15.
Explain Technological co-efficient of matrix of Input – Output analysis.
16.
Find the derivatives

a)
 Y = [7x2 + 4x3]5

b)
 y = 
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17.
Given demand function 12Q + 7P = 216 evaluate the price elasticity of demand when price P = 20. 

18. 
Find the relative maxima and minima (if any) of the function
 y = 2x3 – 3x2 – 12x + 13.

19.
Given the Cobb – Douglas production function
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SECTION C — (3 × 10 = 30 marks)

Answer any THREE questions. 

20.
Solve the following simultaneous equations system by Cramer’s rule


3x + y – z = 2



  x – 2y+ z = -9



4x + 3y + 2z = 1

21.
Given the technological co. efficient matrix


A = 
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 and  F = 
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 find the output vector X.

22.
If  xy = a show that



[image: image11.wmf]0

2

2

2

=

+

dx

dy

dx

y

d

x

.
23.
The demand function of a firm is P = 500 – 0.2 x and its cost function is

 C = 25x + 10000 where P = price and x = output. Find out the profit maximizing output and price. 

24.
Examine the function



Z = x2 + xy + y2 – 3x + 2 for maximum and minimum values. 

——————— 
[P.T.O.]











PAGE  
1

_1260664821.unknown

_1260667470.unknown

_1260668114.unknown

_1260668442.unknown

_1260664955.unknown

_1260654807.unknown

_1260655327.unknown

_1260664782.unknown

_1260655455.unknown

_1260655269.unknown

_1260654646.unknown

